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question No. 1 is Compulsory., | . | i ' ¢ N
Answer an‘i_t.t..‘ig.g questions from the remaining five questions. | ) 23 ': .j ;w\
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a) Find whether the following signal is pengdlc or not i periodic fin d th > pqertnd ) IS (4)
x(t) = 2 Cos (2 mt) ' & g \. &
) Check whether the following system descnbeci by the impulse @gmse h(t] = 2 el u{tl 4
is causal or not, stable or not Justify. <~ N0 NG 8 TR
¢ ) Find the Fourier transform of the signa x{J gt sketch the ﬁsnal and its transfo‘rm (4)
| N, N S
s PSRN (4)

d) Find the initial value anci ﬁﬁal value of the signal x{s) = -1 foiaa
S

-\'

e) Find the range of values of K S0 that the system charactenstlc equatlnn given by (4)

- '\\

s* + 553 +55% + 45 +K=01s stable A5 oY
a) Find the energy and puwer.ﬁf the?.gnal xm 2 Cos {3 -1+ —) (6)
b) Sketch t’ne signal x{t) = 1= [-tl foﬁ tf < 1; x{t) =0, elsewhere (2)
| 6
ketth also i) x {1- 2t] u} x‘{-— -1] | (6)
C}\ Eindthe output of the L'ﬂ system with impulse respcmse h(t) = u(t) and input (6)
xﬁ:}j 'Erﬂ (t} s\ketch the autput
ﬂﬂ FES AN
. a} F' nd whe’ther the. sgstern given by mput output relation is linear or not, (6)
umplrifn@ﬁant of not, yit) = x(2t) +3 : x(t) is the input y(t) the output
‘bl B;da&wt whether the following set of signals are orthogonal or not in the interval (6)
. :-"i f qu“t 328 . xelt)= pJkWot" —co <k S+
G _efficients of a full wave rectifier (8}

Fourier series CO

: C
4;} &matet‘ne tngnnumetrl ¢ is a sine wave of frequency 50 Hz and amplitude i is ‘A

output wave form when the inpu
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| d) Explam th?: term“ Gain Margln and Fhase mam

. _a‘ ) gketﬁh the root. lﬂcus far the system hawng G(s) H(s) = k(s+5) 0)
52 +45+420 (1

,‘ A unity feed back cantrnl system Is havlng G(s) = 80 -

5(s+2)(s+20) Draw the bode plot and (10)
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_ nonse of the systerm d_est:rihﬂq_:lr':? he (6)
a) !HndtJu?rruquenﬁvruhpunsu;nwdfnunﬂﬁefﬂhp Pel . |
differential equation
24, (p" 4 r!x( ) |
d y.(r) 'Iami ) L2y(th e 2 + %(t)
de? dt
AOS L fo‘r all possnble ROC (g
f f X(s) = # g+g) T )
b) Find the inverse Laplace transform o (3+1)(5 (
. dz( u( #‘l ;1,} EleY thE RUC {6)
¢) Find the Laplace transform of x(t) = == dtz ¥ :
i ' LY, .;x-.!-;_,u - :; '
Q5) T e 4 Q_ﬂ - % :
- o r the
a) Explain Mason's gain formula and find S22 USIﬂg Mﬁioltl 2 formula /9
: 0 o ';7;“ s _
signal flow graph shown below . ¢ 4 ’*”fm Q*: T %, @)

c) A umt step rnput IS apph’ed to the unityrnegative fe,edback system for which open loop (6)
Transfer func!tion G(s)~ : fmd i)

= +a; its c!used Ioo’p transfer function ii) Natural frequency of oscillate’
W i) Bamﬁlng rafm £ Iv) damped frequency of oscillation wy 4
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gomment on the stablhty nf the feed back system

| p#*#ttttt#t##t#ttttt




